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ì`mdgm{`H$ AÜ``Z 
BUSINESS STUDIES 

 
{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 80 

Time allowed : 3 hours Maximum Marks : 80 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ

-

nÌ _o§ _w{ÐV n¥ð> 15 h¢ & 
 àíZ

-

nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma

-

nwpñVH$m Ho$ _wI

-

n¥ð> na 
{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ

-

nÌ _| >25

 

àíZ h¢ & 
 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 

 Bg  àíZ

-

nÌ  H$mo n‹T>Zo Ho$ {bE 

15 

{_ZQ >H$m g_` {X`m J`m h¡ &  àíZ

-

nÌ H$m {dVaU nydm©• 
_| 

10.15

 ~Oo {H$`m OmEJm &  

10.15

 ~Oo go 

10.30 

~Oo VH$ N>mÌ Ho$db àíZ

-

nÌ H$mo n‹T>|Jo 
Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma

-

nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 
 Please check that this question paper contains 15 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 25 questions. 

 

Please write down the Serial Number of the question before attempting it.

 

 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-

book

 during this period. 
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gm_mÝ` {ZX}e : 

(i) 1 A§H$ dmbo àíZm| Ho$ CÎma EH$ eãX go EH$ dmŠ` VH$ hm| & 

(ii) 3 A§H$m| dmbo àíZm| Ho$ CÎma 50 – 75 eãXm| Ho$ hm| & 

(iii) 4 – 5 A§H$m| dmbo àíZm| Ho$ CÎma bJ^J 150 eãXm| Ho$ hm| & 

(iv) 6 A§H$m| dmbo àíZm| Ho$ CÎma bJ^J 200 eãXm| Ho$ hm| & 

(v) EH$ àíZ Ho$ g^r ^mJ gmW-gmW hr hb H$s{OE &  

General Instructions : 

(i) Answers to questions carrying 1 mark may be from one word to one 

sentence. 

(ii) Answers to questions carrying 3 marks may be from 50 – 75 words. 

(iii) Answers to questions carrying 4 – 5  marks may be about 150 words. 

(iv) Answers to questions carrying 6 marks may be about 200 words. 

(v) Attempt all parts of a question together. 

1. n§H$O Zo ‘A{^foH$ _moQ>g©’ go < 50 bmI H$s EH$ H$ma IarXr & H$ånZr Zo n§H$O H$mo ~hþV 

go AmH$f©H$ Cnhma àñVwV {H$E O¡go —

 

àW_ Xmo dfm] Ho$ {bE _wâV ~r_m, 

20,000 

{H$bmo_rQ>a VH$ g\$mB©

-

YwbmB© (g{d©qgJ) H$s _wâV godmE± Am¡a CgHo$ {bE H$ma H$mo Ka go bo 

OmZo d Ka nhþ±MmZo H$s _wâV godmE±, Am{X & bo{H$Z Hw$N> {XZ ~mX n§H$O H$m Ü`mZ J`m {H$ 

H$ma aâVma OëXr Zht nH$‹S>Vr Am¡a BgHo$ B§OZ _| Hw$N> Iam~r h¡ & H$ånZr Zo {~Zm bmJV 

Ho$ H$ma H$s g\$mB©

-

YwbmB© (g{d©qgJ) H$s bo{H$Z {\$a ^r n§H$O BgHo$ {ZînmXZ go g§Vwï> Zht 

Wm & ‘A{^foH$ _moQ>g©’ Cgo ghr à{V{H«$`m Zht Xo ahm Wm & AV… CgZo amÁ` H$_reZ _| 

{eH$m`V XµO© H$a Xr, bo{H$Z dh BgHo$ {ZU©` go g§Vwï> Zht hþAm & dh ~hþV A{YH$ naoemZ 

Wm Am¡a Xmo _hrZo Ho$ ~mX CgZo `h {ZU©` {b`m {H$ dh BgHo$ {déÕ Anrb H$aoJm &  

 Š`m n§H$O amÁ` H$_reZ Ho$ {ZU©` Ho$ {déÕ Anrb H$a gH$Vm h¡ 

㼀

 AnZo CÎma Ho$ g_W©Z 

_| H$maU Xr{OE & 1 
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Pankaj purchased a car from ‘Abhishek Motors’ for < 50 lakhs. The 

compa ny offere d many attractiv e gifts to Panka j like — 晲敥 椀湳畲愀湣攠景爀 

晩爀獴  瑷漠 礀敡爀猬  晲敥  瀀椀挀欀ⴀ異  愀湤  搀爀潰  晡挀椀氀椀琀椀敳  景爀  晲敥  獥爀瘀椀挀椀湧  異瑯 

㈀　ⰰ　　 歭Ⱐ整挀⸠䉵琠愀晴敲 愀 昀敷 搀愀礀猠倀愀湫愀樀 湯瑩挀敤 瑨愀琠瑨攠瀀椀挀欀ⴀ異 漀昀 

瑨攠 挀愀爀  睡猠 湯琀  最潯搀  愀湤  瑨敲攠 眀愀猠 獯浥  瀀爀潢氀敭猠 椀渠 瑨攠 敮杩湥⸠ 吀桥 

挀潭瀀愀湹  獥爀瘀椀挀敤  瑨攠 挀愀爀  昀爀敥  潦  挀潳琠 戀甀琠 敶敮  瑨敮  倀愀湫愀樀  睡猠 湯琠

satisfied with its performance. ‘Abhishek Motors’ is not giving him the 搀略 爀攀獰漀湳攮 卯 桥 昀椀氀敤 愀 挀潭瀀氀愀椀湴 椀渠瑨攠匀瑡瑥 䌀潭浩獳椀潮 戀畴 睡猀 

湯琠獡瑩獦椀敤 睩瑨 椀瑳 搀散椀獩潮 愀氀獯⸠䠀攠睡猠瘀敲礀 浵挀栠搀椀獴甀爀戀敤 愀湤 愀晴敲 

瑷漠浯湴桳⁤散椀搀攀搀⁴漠愀瀀瀀敡氀 愀最愀椀湳琠楴⸀ 

䍡渠倀愀湫愀樀 愀瀀瀀敡氀 愀最愀椀湳琠瑨攠搀散椀猀椀潮 潦 瑨攠匀瑡瑥 䌀潭浩獳椀漀渠㼀 䝩瘀攀 

爀敡獯渀 椀渠獵瀀瀀潲琠潦⁹潵爀⁡湳睥爮 

2. ‘àdV©Z bmJV|’ {H$g àH$ma EH$ H$ånZr H$s ny±Or g§aMZm Ho$ M`Z H$mo à^m{dV H$aVr h¢ 

?

 

C„oI H$s{OE & 1 

How do ‘Flo愀tation costs’ affect the choice of capital structure of a 挀潭瀀愀湹 㼀 却愀瑥⸠† 

3. ‘[abmE~b Q´>mÝgnmoQ>© g{d©gog {b{_Q>oS>’ Zo gpãµO`m| Ed§ \$bm| Ho$ n[adhZ _| {d{eï>Vm àmßV 

H$s h¡ & BgH$s ~mµOma _| AÀN>r gmI h¡ Š`m|{H$ `h C{MV g_` d C{MV ñWmZ na \$bm| 

Ed§ gpãµO`m| H$mo {dV[aV H$aVr h¡ &  

 AnZo CÎma Ho$ g_W©Z _| H$maU XoVo hþE C„oI H$s{OE {H$ ‘[abmE~b Q´>mÝgnmoQ>© g{d©gog’ H$s 

H$m`©erb ny±Or H$s Amdí`H$VmE± H$_ hm|Jr `m A{YH$ & 1 

‘Reliable Transport 匀ervices Ltd.’ specialises in transporting fruits and 瘀敧整愀戀氀敳⸠䥴 桡猠愀 最潯搀 爀数畴愀瑩潮 椀渀 瑨攀 浡爀步琠愀猠椀琠搀敬椀瘀敲猠瑨攠晲甀椀瑳 

愀湤⁶敧整愀戀氀敳⁡琀 瑨攠爀椀最桴⁴業攠愀湤⁡琠琀栀攠物最桴⁰氀愀挀攮 

State with reason whether the working capital requirements of ‘Reliable 吀爀愀湳瀀潲琠匀ervices’ will be high or low.  
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4. ‘½bmo EÊS> emBZ {b{_Q>oS>’ EH$ à{gÕ gm¡ÝX`© àgmYZ ~«mÊS> h¡ Omo nwéfm| Ed§ {ñÌ`m| Ho$ {bE 

O¡{dH$ gm¡ÝX`© àgmYZm| H$mo noe H$aVr h¡ & H$ånZr AnZo CËnmXm| Ho$ {bE nm¡Ym| na AmYm[aV 

gm_J«r H$m Cn`moJ H$aVr h¡ Am¡a Xoe _| Z§. 

1 

gm¡ÝX`© àgmYZ ~«mÊS> h¡ & `h Z Ho$db AnZo 

Cn^moº$mAm| H$mo g§Vwï> H$aVr h¡ A{nVw Bg J«h H$s g_ñV gwajm _| ^r {dídmg aIVr h¡ &  

 ‘½bmo EÊS> emBZ {b{_Q>oS>’ Ûmam AnZmB© OmZo dmbr {dnUZ à~ÝY AdYmaUm H$mo  

nhMm{ZE & 1 

‘Glow and Shine Ltd.’ is a famous beauty brand offering organic beauty 瀀爀潤甀挀瑳 景爀  浥渠 愀湤  睯浥渮  吀桥  挀潭瀀愀湹  畳敳 瀀氀愀湴ⴀ戀愀獥搀  浡瑥爀椀愀氀猀 

景爀 椀琀猠瀀爀潤甀挀瑳 愀湤 椀猠瑨攠一漮 ㄀ 戀敡畴礀 戀爀愀湤 椀渠瑨攠挀潵湴爀礀⸠䥴 湯琠潮氀礀 

獡瑩獦椀攀猠椀瑳⁣甀獴潭敲猀⁢畴⁡氀獯⁢敬椀敶敳⁩渠潶敲愀氀氀⁰爀潴攀挀瑩潮⁯映瑨攠灬愀湥琮  

䥤敮瑩晹  瑨攠 浡爀步琀椀湧  浡湡最敭敮琠 瀀桩氀潳漀瀀桹  戀敩湧  景汬潷敤  戀礀  

‘Glow and Shine Ltd.’ † 

5. `h Š`m| H$hm OmVm h¡ {H$ à~ÝY Ho$ {gÕmÝV àH¥${V go _w»`V… ì`dhm[aH$ hmoVo h¢ 

? 

 1 

Why i s  i t  said that principles of m anagement are mainly behavio u ral in 
nature ?  

6. ‘~mdm gmB{H$bg>’

 

Xm¡‹S> (aog) bJmZo dmbr gmB{H$b ~ZmZo H$m CËnmXZ H$a ahr h¡ Am¡a 

~mµOma _| CgH$m EH$m{YH$ma h¡ & ì`dgm` ~hþV AÀN>m Mb ahm h¡, Am¡a H$ånZr ha df© 

{dH«$` _| 

10% 

H$s d¥{Õ Ho$ AnZo CÔoí` H$mo {ZaÝVa àmßV H$a ahr h¡ & AnZo {nN>bo AÀN>o 

[aH$m°S>© go CËgm{hV hmoH$a H$ånZr Ho$ à~ÝY

-

{ZXoeH$ Zo AJbo df© {dH«$` _| 

15% 

d¥{Õ H$m 

CƒmH$m§jr bú` aIm & Bgr df© ~mµOma _| Xmo à{V`mo{J`m| Zo ^r àdoe {H$`m {OgHo$ H$maU 

H$ånZr AnZo bú` H$mo àmßV H$aZo _| Ag_W© ahr &  

 à~ÝY Ho$ H$m`m] _| go EH$ H$m`© H$s Cg gr_m H$mo nhMm{ZE {OgHo$ H$maU H$ånZr AnZo 

bú` H$mo àmßV H$aZo _| Ag_W© ahr &  1 
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‘䉡眀愀  䍹挀氀敳’ 睡猠 椀渀  瑨攠 戀畳椀湥猀猠 漀映 浡湵昀愀挀瑵爀椀湧  爀愀挀椀湧ⴀ挀礀挀氀敳  愀渀搀 

桡搀 愀 浯湯瀀潬礀 椀渀 瑨攠浡爀步琮 吀桥 戀畳椀湥獳 睡猠搀漀椀湧 瘀敲礀 睥氀氀 愀湤 瑨攀 

挀潭瀀愀湹 睡猠挀潮猀椀獴敮瑬礀 浥整椀湧 椀瑳 潢樀散瑩瘀攠潦 ㄀　─ 椀渀挀爀敡猀攠椀渠獡氀攀猠

敶敲礀 礀敡爀⸠䕮挀潵爀愀最敤 戀礀 瑨攠最潯搀 瑲愀挀欠爀散潲搀Ⱐ瑨攠䴀愀湡最椀湧 䑩爀散瑯爀 

潦 瑨攠挀潭瀀愀湹 步瀀琠愀渠愀浢椀瑩潵猀 瑡爀最整 潦 ㄀㔀─ 椀湣爀敡獥 椀渀 獡氀敳 景爀 瑨攀 

湥硴 礀敡爀⸠吀桥 獡浥 礀敡爀 瑷漠挀潭瀀整椀瑯爀猀 愀氀獯 敮瑥爀攀搀 瑨攠浡爀步琠愀渀搀 

戀散愀畳攠潦⁴桩猠瑨攠挀漀浰愀湹 睡猠湯琠愀戀氀攠琀漠浥整⁩瑳⁴愀爀最整⸀ 

䥤敮瑩晹 瑨攠氀椀洀椀瑡瑩漀渠潦 潮攠漀映瑨攠昀畮挀瑩潮猀 潦 浡湡最敭敮琠戀散愀畳攠潦 

睨椀挀栠瑨攠挀潭瀀愀湹 睡猠湯琠愀戀氀攠瑯 愀挀桩敶攠椀瑳⁴愀爀最整⸀ 

7. ‘d¡ídrH$aU’ go Š`m A{^àm` h¡

 㼀

 1 

What is meant by ‘Globalisation’ ? 

8. {Z`moOZ Ho$ EH$ àH$ma Ho$ ê$n _| ‘ì`yh

-

aMZm’ H$m AW© ~VmBE & 1 

Give the meaning of ‘Strategy’ as a type of plan. 

9. EH$ {MÌ H$s ghm`Vm go ‘g§JR>Z Ho$ à^mJr` T>m±Mo’ H$m AW© Xr{OE &  3 

Give the meaning of  ‘Divisional 却爀甀挀瑵爀攀 潦  愀渠潲最愀湩獡瑩潮’ 睩瑨  瑨攠

桥氀瀀⁯映愀⁤椀愀最爀愀洮  

10. ‘Ho$.nr.E_. {b{_Q>oS>’

 

~hþV gmbm| go ~«¡S> Ed§ {~ñHw$Q> ~Zm ahr h¡ & BgHo$ nmg AZw_mZV… 

ㄵ〠

H$_©Mmar h¡§ {OZ_| go A{YH$Va H$m`©H$mar

-

n`m©daU go Iwe Zht h¢ & BgHo$ H$maU  
l_

-

AmdV© Xa ~hþV D±$Mr h¡ & AV… H$ånZr Zo pñW{V H$m {díbofU H$aZo Ho$ {bE EH$ ZE 
_mZd

-

g§gmYZ

-

à~§YH$, ZdrZ H$mo {Z ẁº$ {H$`m & ZdrZ H$mo nVm Mbm {H$ H$ånZr _| gåàofU 
H$m àdmh C{MV Zht h¡, Am¡a H$_©Mm[a`m| Ho$ gwPmdm| `m {eH$m`Vm| H$mo gwZZo Ho$ {bE dhm± 
H$moB© gwPmd noQ>r Zht h¡ & H$ånZr ~hþV H$_ gm_m{OH$ `m gm§ñH¥${VH$ H$m`©H«$_ Am`mo{OV 
H$aVr h¡, H$_©Mmar Ho$db g§ñWm _| AmVo h¢, AnZm H$m`© g_mßV H$aVo h¢ Am¡a Mbo OmVo h¢ &

 

 

(A) Cn ẁ©º$ d{U©V gåàofU ~mYm H$mo nhMm{ZE &  

(~) Cn ẁ©º$ gåàofU ~mYm H$mo {H$g loUr _| dJuH¥$V {H$`m Om gH$Vm h¡ ? CëboI 

H$s{OE &  

(g) Bg loUr H$s EH$ Am¡a gåàofU ~mYm H$mo g_PmBE & 3  
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‘KPM Ltd.’ is manufacturing 戀爀敡搀猠愀湤 戀椀獣畩瑳 景爀 浡湹 礀敡爀献 䥴 桡猀 

愀瀀瀀爀潸椀浡瑥氀礀 ㄀㔀　 攀浰氀潹敥猀 愀湤 浯獴 潦 瑨敭 愀爀攠湯琠栀愀瀀瀀礀 睩瑨 瑨攀 

睯牫椀湧  敮癩爀潮浥湴⸠ 䉥挀愀畳攠 潦  瑨椀猠 瑨攠 氀愀戀潵爀  瑵爀湯癥爠 爀愀瑥  椀猠 瘀敲礀 

桩最栮 吀桥爀敦潲攠瑨攠挀潭瀀愀湹 愀瀀瀀潩湴猀 愀 湥眀 䠀畭愀渠刀敳漀畲挀攠䴀愀湡最敲Ⱐ

一愀瘀敥測 瑯 愀湡氀礀獥 琀桥 獩瑵愀瑩潮⸠一愀瘀敥渠晩湤猠瑨愀琠瑨敲攠椀猠湯 晲敥 晬潷 

潦  挀潭浵湩挀愀瑩潮Ⱐ 愀湤  瑨敲攠 椀猀 湯  獵最最敳瑩潮  戀潸  景爀  瑨攠 敭瀀氀潹敥猀  瑯 

瘀潩挀攠 瑨敩爀  獵最最敳琀椀漀湳  潲  最爀椀敶愀湣敳⸠ 吀栀攠 挀潭瀀愀湹  爀愀爀攀氀礀  潲最愀湩獥猀  愀 

獯挀椀愀氀  潲  挀畬瑵爀愀氀  最愀瑨敲椀湧Ⰰ  瑨攠 敭瀀氀潹敥猠 樀畳琠 挀潭攬  晩湩獨  瑨敩爀  睯牫 

愀湤⁬敡瘀攠瑨攠潲最愀湩獡瑩潮⸠ †† 

⠀愀⤀  䥤敮瑩晹⁴桥⁣潭浵湩挀愀瑩潮⁢愀爀爀椀敲 搀椀猀挀畳猀敤⁡戀潶攮   

⡢⤀  却愀瑥⁴桥⁣愀瑥最潲礀⁯映琀桩猠挀潭浵渀椀挀愀瑩潮⁢愀爀爀椀攀爀⸀ 

⡣⤀  䕸瀀氀愀椀渠愀湹 潴桥爀⁣漀浭畮椀挀愀瑩潮⁢愀爀爀椀攀爀 潦⁴桥⁳慭攠捡琀敧潲礀⸀ 

11. ny±Or ~mµOma Ed§ _wÐm ~mµOma Ho$ ~rM {ZåZ{b{IV AmYmam| na AÝV^}X H$s{OE 

: 

  3 

(A) à{V^mJr 

(~) ànÌ  

Distinguish bet ween Capital Market and Money Market on the basis of 
the following :  

(a) Participants  

(b) Instruments  

12. Amad ‘Zra ß`yar\$mB`a {b{_Q>oS>>’ Ho$ gmW EH$ n`©dojH$ Ho$ ê$n _| H$m`© H$a ahm Wm, Omo 
Ob ew{ÕH$aU `§Ìm| H$m CËnmXZ H$a ahr Wr & H$ånZr H$m bú` à{V{XZ 

200 

Ob 

ew{ÕH$aU `§Ìm| H$m CËnmXZ H$aZm Wm & CgH$m H$m`© `h AmídñV H$aZm Wm {H$ CËnmXZ 

H$m`© {Z{d©¿Z ê$n go MbVm aho Am¡a Cg_| {H$gr àH$ma H$s H$moB© ~mYm Z AmE & Bgo àmßV 
H$aZo Ho$ {bE dh {Za§Va AmXoe XoVm Wm Am¡a Bg ~mV na ~b XoVm Wm {H$ CZH$m nmbZ 

{H$`m OmE & dh Bg_| {dídmg aIVm Wm {H$ {ZînmXZ H$mo XoIVo hþE nwañH$ma Ed§ X§S> XmoZm| 

{XE Om gH$Vo h¢ &  
 Amad Ûmam AnZmB© JB© ZoV¥Ëd e¡br H$s nhMmZ H$s{OE VWm BgH$m dU©Z H$s{OE &  3  
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Aarav was working as a supervisor with ‘Neer Purifier Ltd.’ 眀桩挀栠睡猠

瀀爀潤甀挀椀湧 睡瑥爀 瀀畲椀昀椀敲献 吀桥 瑡爀最整 潦 瑨攀 挀潭瀀愀湹 睡猠瑯 瀀爀潤畣攠㈀　　 

睡瑥爀  瀀畲椀昀椀敲猠敶敲礀  搀愀礀⸠䠀椀猠樀潢  眀愀猠瑯 浡步 獵爀攠 瑨愀琠 睯牫  最潥猀  潮 

獭潯瑨氀礀 愀湤 瑨敲攠睡猠湯 椀湴敲爀甀瀀瑩潮 椀渠瀀爀潤甀挀瑩潮⸀ 吀漠愀挀桩敶攠瑨椀猬 桥 

愀氀睡礀猠 最椀瘀敳  潲搀敲猀  愀湤  椀渀獩獴猠 瑨愀琠 瑨敹  愀爀攀 潢敹敤⸠ 䠀攀  戀敬椀敶敳  瑨愀琠

爀敷愀爀搀  潲  瀀畮椀猀桭敮琠 戀潴栠 挀愀渀  戀攠 最椀瘀敮  搀数敮搀椀湧  異潮  瑨攀 

瀀敲景爀浡湣攮  

䥤敮瑩晹⁡湤⁤敳挀爀椀戀攠瑨攠氀敡搀敲獨椀瀀⁳瑹氀攠戀敩湧 愀搀潰瑥搀⁢礀⁁愀爀愀瘀⸀ 

13. {dVaU _mÜ`_ Ho$ M`Z H$mo ‘~mµOma gå~ÝYr H$maH$’ {H$g àH$ma à^m{dV H$aVo h¢ 

?

 
g_PmBE & 3 

How do the ‘market related factors’ affect the choice of channels of 搀椀獴爀椀戀畴椀潮‿⁅砀瀀氀愀椀渀⸀ 

 

14. ì`dgm{`H$ n`m©daU Ho$ _hÎd na àH$me S>mbZo dmbo {H$Ýht Mma {~ÝXþAm| H$m C„oI  

H$s{OE & 4 

State any four points that highlight the importance of business 
envi ronment.  

 

15. Cn^moº$m g§ajU A{Y{Z`_, 

1986 

Ho$ AÝVJ©V {XE JE Cn^moº$m Ho$ {ZåZ A{YH$mam| H$mo 
g_PmBE 

:

 4 

(A) gyMZm H$m A{YH$ma  

(~) {eH$m`V H$m A{YH$ma 

Explain the following rights of a consumer as provided under  
Consumer Protection Act, 1986 :

 
(a) Right to be informed  
(b) Right to be heard  
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16. ‘µOmEam {b{_Q>oS>’ EH$ {demb Ed§ CYma

-

nmÌVm dmbr H$ånZr h¡ Omo ^maVr` ~mµOma Ho$ {bE 

dmVmZwHy${bV ~gm| H$m CËnmXZ H$a ahr h¡ & `h A~ BZ ~gm| H$mo Xÿgao Xoem| H$mo {Z`m©V 

H$aZm MmhVr h¡ Am¡a ZB© Cƒ VH$ZrH$ dmbr _erZm| _| {Zdoe H$aZo H$m {dMma H$a ahr h¡ & 

{Zdoe H$s A{YH$ _mÌm hmoZo Ho$ H$maU XrK©H$m{bH$ {dÎm H$s Amdí`H$Vm h¡ &  H$ånZr Zo 

{ZU©` {b`m {H$ dh g_Vm A§em| H$mo Omar H$aHo$ {dÎm EH${ÌV H$aoJr & g_Vm A§em| H$mo Omar 

H$aZo _| ~hþV A{YH$ {ZJ©_Z bmJV (âbmoQ>oeZ H$m°ñQ>) {Z{hV h¡ & {ZJ©_Z bmJV (âbmoQ>oeZ 

H$m°ñQ>) Ho$ IMm] H$mo nyam H$aZo Ho$ {bE H$ånZr Zo _wÐm ~mµOma Ho$ àboIm| H$mo Cn`moJ _| bmZo 

H$m {ZU©` {b`m &

 

  

(A) Cn ẁ©º$ CÔoí` Ho$ {bE H$ånZr _wÐm ~mµOma Ho$ {Og àboI H$m à`moJ H$a gH$Vr h¡, 

CgH$m Zm_ ~VmVo hþE Cgo g_PmBE & 

(~) Bg àboI Ho$ _mÜ`_ go H$ånZr {H$VZr Ad{Y Ho$ {bE {dÎm àmá H$a gH$Vr h¡ ? 

(g) Bg àboI H$mo Am¡a {H$g CÔoí` Ho$ {bE Cn`moJ _| bm`m Om gH$Vm h¡ ?  4  

 

‘Zaira Ltd.’ is a large and creditworthy company manufacturing  

愀椀爀ⴀ挀潮搀椀琀椀潮敤 戀畳敳 景爀 瑨攠䥮摩愀渠浡爀步琀⸠䥴 湯眠眀愀湴猀 瑯 數瀀潲琠瑨敳攀 

戀畳敳 瑯 潴桥爀 挀潵湴爀椀敳 愀湤 搀散椀搀攀猠瑯 椀渀瘀敳琠椀渠湥眠栀椀ⴀ瑥挀栠浡挀桩湥猀⸠

卩湣攠瑨攀 椀湶敳瑭敮琠椀猠氀愀爀最攬 椀琠爀敱甀椀爀敳 氀漀湧ⴀ瑥爀洠晩湡渀挀攮 䥴 搀散椀搀攀猠瑯 

爀愀椀獥 晵渀搀猠戀礀 椀獳甀椀渀最 敱畩瑹 獨愀爀敳⸠吀桥 椀獳略 潦 敱甀椀瑹 猀桡爀敳 椀湶潬瘀敳 

桵来 晬潡瑡瑩潮 挀潳琮 吀漠浥整 瑨攠攀砀瀀敮猀敳 潦 晬潡瑡瑩潮 挀潳琬 瑨攠挀潭瀀愀湹 

搀散椀搀敳⁴漠琀愀瀀⁴桥 浯湥礀⁭愀爀步琮 

⡡⤀  一愀浥 愀湤 數瀀氀愀椀渠瑨攠浯湥礀 浡爀步琠椀湳瑲畭敮琠瑨攠挀潭瀀愀湹 挀愀渠

畳攠景爀⁴桥 愀戀潶攠灵爀瀀潳攀⸀ 

⡢⤀  坨慴 椀猠瑨攀 搀甀爀愀瑩潮 景爀 睨椀挀栠瑨攀 挀漀洀瀀愀湹 挀愀渠最整 晵渀搀猠瑨爀潵最栠

瑨椀猠椀湳琀爀畭敮琠㼠 

⡣⤀  却愀瑥⁡湹⁯瑨敲⁰畲瀀漀獥⁦潲⁷桩挀栠瑨椀猠椀渀獴爀畭敮琠捡渠戀攠畳敤⸀ 
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17. ‘AmYma{ebm {dÚmb`’

 

nmR²>`H«$_, nmR²>`H«$_

-

ghJm_r d H«$s‹S>m

ⴀ

gå~ÝYr {H«$`mAm| Ho$ {_lU 
Ûmam {dÚm{W`m| Ho$ gdm©“rU {dH$mg _| {dídmg aIVm h¡ VWm Q>r_ ^mdZm H$mo ~‹T>mdm XoVm  
h¡ & AnZo ñWmnZm {Xdg na {dÚmb` H$mo EH$ ñQ>oO H$m`©H«$_ àñVwV H$aZm Wm & H$m`©H«$_ 
gå~ÝYr {d{^Þ njm| H$s `moOZm ~ZmZo Ho$ {bE CÝhmo|Zo Xg àYmZ ~ƒm| H$s EH$ H$_oQ>r  
~ZmB© & CÝhm|Zo `h {ZU©` {b`m {H$ gOmdQ> Ho$ {bE do nwZ…M{H«$H$ H$mµJµO H$m à`moJ  
H$a|Jo & CZ_| EH$Vm Ed§ g_Ýd` H$s ^mdZm Wr Am¡a g^r gXñ` EH$

-

Xÿgao H$m gh`moJ H$a 
aho Wo & nmañn[aH$ {dídmg Ed§ AnZonZ H$s ^mdZm Ho$ H$maU H$m`©H«$_ ì`dpñWV ê$n go 
{Z`mo{OV Ed§ H$m`m©pÝdV hmo J`m & Aa{dÝX Zo, Omo àYmZ ~ƒm| _| go EH$ Wm, `h AZw^d 
{H$`m {H$ AZOmZo _| H$m`© Ho$ {Z`moOZ Ed§ H$m`m©Ýd`Z _| CZHo$ Xb Zo à~ÝY Ho$ {d{^Þ 
{gÕmÝVm| _| go EH$ H$m à`moJ {H$`m h¡ & dh H$m`©H«$_ H$s g\$bVm go BVZm A{YH$ ào[aV 
hþAm {H$ CgZo AnZo {nVmOr H$mo Cgr {gÕmÝV H$mo AnZo ì`dgm` _§o AnZmZo Ho$ {bE H$hm & 
CgHo$ {nVmOr Zo ~Vm`m {H$ dh nhbo go hr Cg {gÕmÝV H$m Cn`moJ H$a aho h¢ &   

(A) H$m`©H«$_ H$s g\$bVm Ho$ {bE à`moJ {H$E JE à~ÝY Ho$ {gÕmÝV H$mo nhMm{ZE &  

(~) à~ÝY H$s CZ Xmo {deofVmAm| H$m C„oI H$s{OE {OZ na Cn ẁ©º$ AZwÀN>oX _| àH$me 
S>mbm J`m h¡ &  

(g) ‘AmYma{ebm {dÚmb`’ Ûmam g_mO H$mo gåào{fV {H$E JE {H$Ýht Xmo _yë`m| H$s 
nhMmZ H$s{OE & 4  

‘Adharshila Vidyalaya’ believes in holistic development of students and 敮挀潵爀愀最敳 瑥愀洠戀畩氀搀椀湧 瑨爀潵杨 愀 浩砀 漀映挀畲爀椀挀畬愀爀Ⱐ挀漀ⴀ挀畲爀椀挀畬愀爀 愀湤 

獰潲瑳 愀挀瑩瘀椀琀椀敳⸠佮 椀瑳 䘀潵湤敲猀’ 䑡礀 愀 獴慧攠瀀敲景爀浡湣攠桡搀 瑯 戀攠瀀畴 

異⸠䄠挀潭浩瑴敥 潦 瑥渠瀀爀敦攀挀瑳 睡猠挀潮猀瑩琀畴敤 瑯 瀀氀愀渠搀椀晦攀爀敮琀 愀獰散瑳 

潦 瑨攠晵湣瑩潮⸠吀桥礠愀氀氀 搀散椀搀攀搀 瑯 畳攠爀散礀挀氀敤 瀀愀瀀攀爀 景爀 搀攀挀潲愀瑩潮⸠䅳 

瑨敲攠睡猠愀 獰椀爀椀琠潦 畮椀瑹 愀湤 桡爀浯湹 愀渀搀 愀氀氀 浥浢敲猠獵瀀瀀潲瑥搀 敡挀栀 

潴桥爀  睩瑨  浵瑵愀氀  瑲畳琠 愀湤  戀敬潮杩湧湥獳Ⱐ 瑨攠 瀀爀潧爀愀浭攠 睡猀 

獹猀瑥浡瑩挀愀氀氀礀 瀀氀愀湮攀搀 愀湤 數散畴攀搀⸠䅲瘀椀渀搀Ⱐ潮攠潦 瑨攠瀀爀敦散琀猬 爀敡氀椀獥搀 

瑨愀琠 畮欀湯睩湧氀礀  琀桥  最爀潵瀀  桡搀  愀瀀瀀氀椀敤  潮攠 潦  瑨攠 瀀爀椀渀挀椀瀀氀敳  漀昀 

浡湡最敭敮琠 睨椀氀攠 瀀氀愀湮椀湧  愀湤  數散畴椀渀最  瑨攠 瀀爀潧爀愀浭攮  䠀攠 睡猠 獯 

椀湳瀀椀爀攀搀 戀礀 瑨攠獵挀挀攀獳 潦 瑨攠晵湣琀椀潮Ⱐ瑨愀琠桥 愀獫敤 桩猠晡瑨敲 瑯 愀瀀瀀氀礀 

瑨攠獡浥 瀀爀椀湣椀瀀氀攠椀渠桩猠戀畳椀湥猀献 䠀椀猠晡瑨敲 爀数氀椀敤 瑨愀琠桥 睡猠愀氀爀敡搀礀 

畳椀湧 瑨椀猠瀀爀椀渀挀椀瀀氀攮 †††††† †† 

⡡⤀  䥤敮瑩晹 瑨攠瀀爀椀渀挀椀瀀氀攠漀映浡湡最敭敮琠愀瀀瀀氀椀敤 景爀 瑨攠猀畣挀攀獳 潦 琀桥 

瀀爀潧爀愀浭攮† 

⡢⤀  却愀瑥  愀湹  瑷漠 晥慴畲敳  潦  浡湡最敭敮琠 桩最桬椀最桴敤  椀渠 瑨攠 愀戀潶攠

瀀愀爀愀最爀愀瀀栮  

⡣⤀  Identify any two values which ‘Adharshila Vidyalaya’ 挀潭浵湩挀愀瑥搀⁴漠瑨攠獯挀椀整礀⸀ 
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18. ‘ñdpñVH$ {b{_Q>oS>’ Ho$ H$_©Mmar ~‹T>r hþB© _m±J H$mo nyam H$aZo Ho$ {bE H$ånZr Ûmam Am`m{VV 

ZB© H$åß`yQ>arH¥$V _erZm| na H$m_ H$aZo Ho$ `mo½` Zht h¢ & Bg{bE H$_©Mmar n`©dojH$ go 
A{V[aº$ _mJ©Xe©Z H$s _m±J H$a aho h¢ & H$_©Mm[a`m| Ho$ ~ma

-

~ma ~wbmZo Ho$ H$maU n`©dojH$ na 

~hþV A{YH$ ^ma h¡ & 

 gwPmd Xr{OE {H$ n`©dojH$ {H$g àH$ma H$_©Mm[a`m| Ho$ H$m¡eb d kmZ H$mo ~‹T>mH$a CÝh| 
ñdVÝÌ ê$n go H$m`© g§^mbZo Ho$ `mo½` ~Zm gH$Vm h¡ & 

 CZ VrZ bm^m| H$m ^r C„oI H$s{OE Omo H$_©Mm[a`m| H$mo n`©dojH$ Ho$ {ZU©` Ûmam àmá hm|Jo & 4 

The workers of ‘Swastik Ltd.’ are unable to work on new computerised 浡挀桩湥猀  椀浰潲瑥搀  戀礀  瑨攠 挀潭瀀愀湹  瑯  晵氀昀椀氀  瑨攠 椀渀挀爀敡獥搀  搀敭愀湤⸠

吀桥爀敦潲攠 瑨攠 睯牫攀爀猠 愀爀攠 獥攀歩湧  數瑲愀  最畩搀愀湣攠 晲潭  瑨攠 猀異敲瘀椀獯爀 

愀湤⁴桥 獵瀀敲瘀椀獯爀⁩猀 潶敲戀畲搀敮敤⁷椀瑨⁴栀攠晲敱略湴⁣慬氀猠潦⁷潲步爀献 

卵杧攀獴  桯眠 瑨攠 獵瀀敲瘀椀獯爀Ⰰ 戀礀  椀渀挀爀敡猀椀渀最  瑨攠 獫椀氀氀猀  愀湤  歮漀睬敤最攠 潦 

睯牫敲猬⁣愀渠浡步⁴桥洠桡湤氀攠瑨敩爀⁷潲欀⁩渀搀数敮搀敮瑬礀⸀ 

䅬獯 獴慴攠愀湹 瑨爀敥 戀敮敦椀瑳 瑨愀琠瑨攠睯牫敲猠睩氀氀 搀敲椀瘀攠戀礀 瑨攠搀散椀獩漀渀 

潦⁴桥⁳甀瀀敲瘀椀獯爀⸀ 

19. hf© Zo 

20

 H$_©Mm[a`m| Ho$ gmW ^maVr` J«m_rU ~mµOma Ho$ {bE ‘Q>mBZr

-

Q>mo`²g {b{_Q>oS>’ Zm_ go 

gñVo {Ibm¡Zo ~ZmZo H$s EH$ H$ånZr Ama§^ H$s & AnZo àmapå^H$ dfm] _| H$ånZr Zo ~hþV 

AÀN>m H$m`© {H$`m & My±{H$ CËnmX AÀN>o Wo Am¡a CgH$m {dnUZ ^r R>rH$ àH$ma go hmo ahm 

Wm, Bg{bE BgHo$ CËnmXm| H$s _m±J ~‹T> JB© & CËnmXZ H$mo ~‹T>mZo Ho$ {bE H$ånZr H$mo 

A{V[aº$ ì`{º$`m| H$s ^Vu H$aZr n‹S>r & hf©, Omo nhbo gmao {ZU©` ñd`§ bo ahm Wm, H$mo Hw$N> 

Mw{ZÝXm A{YH$mam| H$m A§VaU H$aZm n‹S>m & Cgo `h {dídmg Wm {H$ AnZo {ZU©`m| H$mo 

à^mdnyU© T>§J go bmJy H$aZo Ho$ {bE AYrZñW nyU© ê$n go gj_, g_W© Ed§ gmYZ

-

gånÞ h¢ 

Am¡a AnZo {ZU©`m| H$mo à^mdnyU© T>§J go bmJy H$aZo H$m CÎmaXm{`Ëd CR>m gH$Vo h¢ & BgHo$ 

AÀN>o n[aUm_ {_bo Am¡a H$ånZr Z Ho$db AnZm CËnmXZ ~‹T>mZo _| H$m_`m~ ahr A{nVw 

{d{^Þ {deofVmAm|• Ho$ gmW BgZo AnZr CËnmX ûm¥§Ibm _| {dñVma ^r H$a {b`m &    

(A) Cg AdYmaUm H$mo nhMm{ZE, {OgH$m à`moJ H$aHo$ hf© AnZr H$ånZr H$mo A{YH$ 

D±$MmB`m| VH$ bo OmZo _| gj_ hmo J`m & 

(~) Bg AdYmaUm Ho$ _hÎd Ho$ {H$Ýht VrZ {~ÝXþAm| H$mo ^r g_PmBE & 4  
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Harsh started a company ‘Tinyⴀ吀潹猠Ltd.’ to manufacture economical 琀潹猠

景爀  瑨攠 䥮搀椀愀渀 爀畲愀氀 浡爀步琀Ⰰ 睩瑨  ㈀　  敭瀀氀潹敥猀⸠ 吀桥  挀潭瀀愀湹  搀椀搀  瘀敲礀 

睥氀氀⁩渀⁩瑳 椀湩琀椀愀氀⁹敡爀献⁁猀⁴桥 瀀爀潤甀挀琀猀 眀攀爀攀 最潯搀⁡湤⁭愀爀步瑥搀⁷敬氀Ⰰ 瑨攠

搀敭愀湤 潦 椀瑳 瀀爀潤畣琀猠睥湴 異⸠吀漠椀湣爀敡猀攠瑨攠瀀爀潤甀挀瑩潮 瑨攠挀潭瀀愀湹 

搀散椀搀敤 瑯 爀散爀甀椀琠愀搀搀椀瑩潮愀氀 敭瀀氀潹敥猀⸠䠀愀爀獨 睨漠睡猠敡爀氀椀敲 琀愀歩湧 愀氀氀 

搀散椀獩潮猀  景爀  瑨攠 挀潭瀀愀湹  桡搀  瑯  獥氀攀挀瑩瘀攀氀礀  搀椀獰敲獥 瑨攠 愀畴桯爀椀瑹⸠ 䠀攀 

戀敬椀敶敤  瑨愀琠 獵戀潲搀椀湡瑥猠 愀爀攠 挀潭瀀整敮琬  挀愀瀀愀戀氀攠 愀湤  爀敳漀甀爀挀敦甀氀  愀湤 

挀愀渠愀獳畭攠爀敳瀀潮獩戀椀氀椀瑹 景爀 敦昀攀挀瑩瘀攠椀洀瀀氀敭敮瑡瑩潮 潦 瑨敩爀 搀散椀猀椀潮猀⸀ 

吀桩猠 瀀愀椀搀  潦昀  愀湤  琀桥  挀潭瀀愀湹  睡猠 渀潴  潮氀礀  愀戀氀攠 瑯 椀湣爀敡獥 椀瑳 

瀀爀潤甀挀瑩潮⁢畴⁡氀獯⁥硰慮摥搀⁩瑳 瀀爀漀搀畣琠牡湧攠睩瑨⁤椀晦攀爀敮琠晥慴畲敳⸠ † ††  

⡡⤀  䥤敮瑩晹 瑨攠挀潮挀数琠畳敤 戀礀 䠀愀爀獨 瑨爀潵最栠睨椀挀栠桥 睡猠愀戀氀攠瑯 
獴攀攀爀⁨椀猠挀潭瀀愀湹 瑯⁧敩最桴猀⸠⁨爀敡瑥爀 

⡢⤀  䅬獯⁥硰氀愀椀渠愀湹 瑨爀敥⁰潩湴猀⁯映琀桥 椀洀瀀潲琀愀湣攠潦⁴桩猠挀潮挀攀瀀琮 

20. ‘Am¡nMm[aH$ g§JR>Z’ H$s {deofVmAm| H$m CëboI H$s{OE & 5 

State the features of 

‘Formal Organisation’.

 

 

21. {nN>bo Xg dfmªo go H$mì`m ‘[abmE~b {b{_Q>oS>’ _| H$m`© H$a ahr h¡ & dh H$m`© Ho$ à{V AnZo 
g_n©U Ho$ {bE à{gÕ h¡ & O~ Cggo d[aîR> à~ÝYH$ godm{Zd¥Îm hþAm Vmo CgHo$ g^r 
gm{W`m| Zo `h gmoMm {H$ H$mì`m H$s A~ nXmoÞ{V hmo OmEJr & O~ Bg Imbr nX H$mo EH$ 
~mhar ì`{º$ ‘Hw$_mar J[a_m’ Ûmam ^a {X`m J`m Vmo g^r H$mo AmíM ©̀ hþAm & BgHo$ H$maU 
H$mì`m H$m CËgmh ^§J hmo J`m Am¡a CgH$m {ZînmXZ {JaZm ewê$ hmo J`m & CgZo  
AnZo

-

Amn H$mo AŠga AZwnpñWV H$aZm ewê$ H$a {X`m Am¡a AnZo bú`m| H$mo àmßV Zht H$a 
nm ahr Wr &  

 Hw$_mar J[a_m EH$ AÀN>r ZoVm Wr Omo AnZo AYrZñWm| H$mo Z Ho$db AmXoe XoVr Wr, A{nVw 
CÝh| _mJ©X{e©V Ed§ A{^ào[aV ^r H$aVr Wr & CgZo H$mì`m Ho$ ì`dhma H$s Amoa Ü`mZ {X`m 
Am¡a CgZo _hgyg {H$`m {H$ CgHo$ {ZînmXZ _| gwYma {H$`m Om gH$Vm h¡ & CgZo H$mì`m H$mo 
g§JR>Z Ho$ {ZU©` gå~ÝYr {df`m| _| em{_b H$aZm àmaå^ H$a {X`m Am¡a Cgo EH$ Cƒ

ⴀ

ñVar` 
g§`wº$ à~ÝY g{_{V H$m gXñ` ~Zm {X`m & A~ H$mì`m H$m`m©b` _| g_` na AmVr Wr Am¡a 
CgHo$ {ZînmXZ _| ^r gwYma hmoZm àmaå^ hmo J`m & 

(A) J[a_m Ûmam {Zînm{XV à~ÝY Ho$ H$m`© H$s nhMmZ H$s{OE & 

(~) à~ÝY Ho$ Cn ẁ©º$ H$m`© Ho$ Cg VÎd H$m Zm_ ~VmBE {OgH$s ghm`Vm go J[a_m 
H$mì`m Ho$ ì`dhma _| gwYma H$a gH$s & 

(g) Cn ẁ©º$ (~)

 

_| nhMmZo JE VÎd H$s {H$Ýht VrZ {deofVmAm| H$m CëboI H$s{OE & 5  
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Kavya  had been working with ‘剥氀椀愀戀氀攠䰀瑤⸀’ 景爀 瑨攠氀愀獴 瑥渠礀敡爀猀⸠匀桥 

睡猠 晡浯畳  景爀  桥爀  搀敤椀挀愀瑩潮  瑯睡爀搀猀 琀桥  睯牫⸠ 坨敮 瑨攠洀愀湡最敲 

獥渀椀潲 瑯 桥爀 爀整椀爀攀搀Ⰰ 愀氀氀 桥爀 挀漀氀氀敡最略猀 瑨漀畧桴 瑨愀琠湯眠䭡瘀礀愀 睯畬搀 戀攠

瀀爀潭潴敤⸠ 䉵琠 瑯  敶敲礀潮攀’猠 獵爀瀀爀椀獥  瑨攠 瘀愀挀愀湴  瀀潳琠 睡猠 晩氀氀敤  戀礀  愀渠

潵瑳椀搀攀爀 ‘䴀椀猀猠䝡爀椀洀愀’. 䉥挀愀畳攠潦 瑨椀猬 䬀愀瘀礀愀 晥氀琀 搀敭潲愀氀椀獥搀 愀湤 桥爀 

瀀敲景爀浡湣攠獴慲瑥搀 搀散氀椀湩湧⸀ 卨攠睯甀氀搀 愀戀獥渀琠桥爀獥氀映漀晴敮 愀湤 挀潵氀搀 

湯琠浥整⁨敲⁴愀爀最整献  

䴀椀獳 䝡爀椀浡 睡猠 愀  最潯搀  氀敡搀敲  睨漠 睯畬搀  湯琠 潮氀礀  椀湳琀爀畣琠 桥爀 

獵戀潲搀椀湡瑥猀  戀畴  愀氀猀漠 最畩搀攀  愀湤  椀湳瀀椀爀攀  瑨敭⸀  卨攠渀潴椀挀攀搀 Kavya’s 

戀敨愀瘀椀潵爀 愀湤 晥氀琠瑨愀琠桥爀 瀀敲景爀浡湣攠挀潵氀搀 戀攠椀浰爀潶敤⸠卨攠獴慲瑥搀 

椀湶潬瘀椀湧 䭡瘀礀愀 椀渠 搀散椀獩潮ⴀ浡歩湧  椀獳甀敳  爀敬愀瑥搀  瑯  瑨攠 潲最愀湩獡瑩潮 

愀湤  浡搀攠 桥爀  愀 浥浢敲  潦 愠桩最栀ⴀ氀敶敬 樀潩湴 浡湡最敭敮琀 挀潭浩瑴敥⸀ 

䭡瘀礀愀 睡猠 湯眠 瀀畮挀瑵愀氀  瑯  潦昀椀挀攠 愀湤  桥爀  瀀敲景爀浡湣攠 獴慲琀敤 

椀浰爀潶椀湧⸀ 

⡡⤀  䥤敮瑩昀礀⁴桥 晵湣琀椀潮⁯映浡湡最敭敮琠戀敩湧 瀀敲景爀浥搀⁢礀 䝡爀椀浡⸀ 

⡢⤀  一愀浥  瑨攠 敬敭敮琠 潦  瑨攠 愀戀潶攠 晵湣瑩潮  潦  浡湡最敭敮琀  睨椀挀栠

桥氀瀀敤 䝡爀椀浡 瑯⁩浰爀潶攠䭡瘀礀愀’猠戀敨愀瘀椀漀畲⸠ 

⡣⤀  却愀瑥⁡湹⁴桲敥 晥慴畲敳⁯映瑨攠敬敭敮琠椀搀攀湴椀晩攀搀⁩渀 戀⤠愀戀潶攮  

22. EH$ H$ånZr _mo~mBb \$moZ MmO© H$aZo Ho$ {bE gmoba n¡Zb H$m {Z_m©U H$a ahr Wr, Omo ~hþV 
A{YH$ _m±J _| Wo & `h nm`m J`m {H$ EH$ {XZ _| 

500

 gmoba n¡Zb ~ZmZo H$m bú` 
H$_©Mmar àmßV Zht H$a nm aho Wo & {díbofU na `h nVm Mbm {H$ H$_©Mmar µJbVr na Zht 
Wo & H$ƒo _mb H$s AZwnbãYVm Ho$ H$maU VWm H$_©Mm[a`m| H$s H$_r Ho$ H$maU H$ånZr AnZo 
{ZYm©[aV bú`m| H$mo àmßV Zht H$a nm aho Wo VWm d¡H$pënH$ ì`dñWmAm| H$s Amdí`H$Vm  
Wr & ~‹T>r hþB© _m±J H$mo nyam H$aZo Ho$ {bE H$ånZr Zo AZw_mZ bJm`m {H$ bJ^J 

㘀㘀 

A{V[aº$ 
H$_©Mm[a`m| H$s Amdí`H$Vm Wr, {Og_| go 

6

 {d{^Þ {d^mJm| Ho$ AÜ`jm| Ho$ ê$n _| H$m ©̀ 
H$a|Jo VWm 

10 

àË`oH$ AÜ`j Ho$ AYrZ AYrZñWm| Ho$ ê$n _| H$m`© H$a|Jo & Amdí`H$ 
`mo½`VmAm| Ed§ H$m`© {d{eîQ>VmAm| H$mo ^r gyMr~Õ H$a {b`m J`m & `h ^r {ZU©` {b`m J`m 
{H$ g§JR>Z Ho$ {µOå_oXmar dmbo nXm| na _{hbmAm|, {nN>‹S>o VWm J«m_rU joÌm| Ho$ bmoJm| VWm 
{deof `mo½`Vm dmbo bmoJm| H$mo CËgm{hV H$aZo Ho$ {bE Ny>Q> Xr OmE & àm{W©`m| H$s `mo½`VmAm| 
H$mo CZH$s H$m`© H$s àH¥${V Ho$ gmW {_bmZ H$aZo Ho$ {bE g^r à`mg {H$E JE & 5 

(A) Cn`w©º$ d{U©V à~ÝY Ho$ H$m`mªo H$mo nhMm{ZE & 

(~) nhMmZo JE àË`oH$ H$m`© H$s à{H«$`m Ho$ CZ Xmo MaUm| H$m CëboI H$s{OE {OZH$m 
dU©Z Cn`w©º$ AZwÀN>oX _| {H$`m J`m h¡ & 

(g) Eogo {H$Ýht Xmo _yë`m| H$s gyMr ~ZmBE Omo H$ånZr g_mO H$mo gåào{fV H$aZm MmhVr 
h¡ & 
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A company was manufacturing solar panels for ch arging of mobiles which 

were in great demand. It was found that the target of producing 500 solar 

panels a day was not being met by the employees. On analysis it was 

found that the workers were not at faul t . Due to non -availability of raw 

material s and shortage of workers, the company was not able to achieve 

the set targets and alternative arrangements were needed.  To meet the 

increased demand the company assessed that approximately 66 

additional workers were required out of which 6 would work as heads of 

different departments and 10 would work as subordinates under each 

head. The required qualifications and job specifications were also 

enlisted. It was also decided that necessary relaxation should be given to 

enco urage women ,  persons from backward and rural  areas and persons 

with special abilities to assume responsible positions in the organisation. 

All efforts were made to match the ability of the applicants with the 

nature of work.  

(a)  Identify the functions of management discussed above.  

(b)  State the two  steps in the process of each  function dicussed in the 

above para.  

(c)  List any two values which the company wants to communicate to 

the society.  

23. à~ÝY Ho$ {ZåZ{b{IV {gÕmÝVm| H$mo g_PmBE 

:

 6 

(A) gh`moJ, Z {H$ ì`{º$dmX 

(~) gm_y{hH$ {hVm| Ho$ {bE ì`{º$JV {hVm| H$m g_n©U 

Explain the following principles of management :

 

(a) Co -operation, not Individualism  

(b) Subordination of Individual Interest to General Interest  
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24. ‘{gpëH$`m {b{_Q>oS>’ EH$ H$ånZr h¡ Omo {gëH$ Ho$ H$n‹S>m| H$m CËnmXZ H$a ahr h¡ & {nN>bo 

H$m\$s dfmªo go `h bJmVma AÀN>o bm^ A{O©V H$a ahr h¡ & Bg df© ^r dh n`m©ßV bm^ 
A{O©V H$aZo _| g\$b ahr h¡ & H$ånZr Ho$ nmg n`m©ßV amoH$‹S> Am¡a ^{dî` _|o {dH$mg Ho$ 

AÀN>o Adga CnbãY h¢ & `h EH$ ^br

-

^m±{V à~pÝYV g§JR>Z h¡ VWm JwUdÎmm, amoµOJma Ho$ 

g_mZ Adga VWm AÀN>r nm[al{_H$ nÕ{V`m| _| {dídmg $aIVr h¡ & BgHo$ ~hþV go 
A§eYmaH$ h¢ Omo AnZo {Zdoe na {Z`{_V Am` àmßV H$aZo H$mo àmW{_H$Vm XoVo h¢ &  

 H$ånZr Zo Eg.~r.AmB©. ~¢H$ go < 

60 

bmI H$m G$U {b`m h¡ Am¡a G$U g_Pm¡Vo Ho$ AZwgma 

bm^m§e Ho$ ^wJVmZ Ho$ {bE Hw$N> à{V~ÝYm| Ho$ AYrZ h¡ & 

 H$ånZr Ho$ ~mao _| Cn`w©º$ dU©Z CZ {d{^Þ H$maH$m| H$s Amoa g§Ho$V H$aVm h¡, Omo `h {ZU©` 

boVo h¢, {H$ H$ånZr Ûmam bm^ H$m {H$VZm ^mJ à{VYm[aV {H$`m OmE Am¡a {H$VZm ^mJ 

{dV[aV {H$`m OmE & 

 Cn`w©º$ dU©Z go n§{º$`m± CÕ¥V H$aVo hþE Eogo {H$Ýht Mma H$maH$mo| H$mo nhMm{ZE Ed§  

g_PmBE & 6 

 

‘卩氀歩礀愀  䰀瑤⸀’ 椀猠 愀  挀潭瀀愀湹  浡湵昀愀挀瑵爀椀湧 猀椀氀欠 挀氀潴栮  䥴  桡猠 戀敥渠

挀潮猀椀獴敮瑬礀  敡爀湩湧  最潯搀  瀀爀潦椀瑳 景爀 浡渀礀  礀敡爀猀⸠ 吀桩猠 礀敡爀  瑯漬  椀琠 桡猠

戀敥渠 愀戀氀攠 瑯  最敮敲愀琀攠 敮潵杨  瀀爀潦椀琀献  吀桥爀攠 椀猠 愀瘀愀椀氀愀戀椀氀椀瑹  潦  攀湯畧栠  

挀愀獨  椀渠 瑨攠 挀潭瀀愀湹  愀湤  最潯搀  瀀爀潳瀀散瑳 景爀  最爀潷瑨  椀渠 晵瑵爀攮  䥴  椀猠 愀  

睥氀氀ⴀ浡湡最敤  潲最愀湩獡瑩潮  愀湤  戀敬椀敶敳  椀渠 焀畡氀椀瑹Ⱐ 敱畡氀  敭瀀氀潹浥湴 

潰瀀潲瑵渀椀瑩攀猠愀湤 最潯搀 爀敭畮敲愀瑩潮 瀀爀愀挀琀椀挀敳⸠䤀琀 桡猠浡湹 獨愀爀敨潬搀攀爀猀 

睨漠瀀爀敦敲⁴漠爀散攀椀瘀攠愀⁲敧畬愀爀⁩渀挀潭攠晲潭⁴桥椀爀⁩渀瘀敳瑭敮瑳⸀ 

䥴 桡猠瑡步渀 愀 氀潡渠潦 < 60 lakhs from SBI  Bank and is bound by certain 

restrictions on  the  payment of dividend according to the terms of the loan 

agreement.  

The above discussion about the company leads to various factors which 

deci de ho w much profit  should be retained and how much has to be 

distribut ed by the company.  

Quoting the lines from the above discussion , identify and explain any 

four such factors.  

www.studentbro.inwww.studentbro.inwww.studentbro.in



66/2/3 15 P.T.O. 

25. dmgdr H$jm 

X II 

_| dm{UÁ` H$s EH$ {dÚmWu Wr & CgHo$ {nVmOr EH$ {H$gmZ Wo Omo Johÿ± 

H$s {d{^Þ {H$ñ_| CJmVo Wo VWm Joh±ÿ CËnmXZ Ho$ {d{^Þ njm| _| nyU© ê$n go {ZnwU Wo & do 

gaH$ma Ûmam Joh±ÿ H$s IoVr na EH$ Amapå^H$ n[a`moOZm Ho$ {bE ^r MwZo JE & EH$ n[a`moOZm 

Ho$ ê$n _| CgZo Cƒ JwUdÎmm dmbo Johÿ± H$mo C{MV _yë`m| na {dnUZ H$aZo H$s gå^mì`Vm na 

AÜ``Z H$aZo H$m {ZU©` {b`m & CgHo$ {nVmOr Zo Cgo gwPmd {X`m {H$ J«mhH$m| Ho$ {dMmam| d 

_Vm| H$m nVm bJmZo Ho$ {bE dh B§Q>aZ¡Q> H$m Cn`moJ H$ao & CgZo nm`m {H$ O¡{dH$

-

n¡H$ Johÿ± H$s 

~hþV A{YH$ _m±J Wr & Cgo nVm Wm {H$ Johÿ± H$s pñW{V _| H$moB© nyd©

-

{ZYm©[aV {d{eîQ>VmE± Zht 

hmoVt, {OgHo$ H$maU CËnmX _| EH$ê$nVm àmßV H$aZm H${R>Z hmoVm h¡ & AnZo CËnmX H$mo 

à{V`mo{J`m| go {^Þ H$aZo Ho$ {bE CgZo Cgo ‘_hmZ

-

AmoaJ¡{ZH$

-

Joh±ÿ’

 

H$m Zm_ {X`m Am¡a CZH$s 

JwUdÎmm Ho$ AmYma na nmonwba, Šbm{gH$ VWm gwà«r_ Zm_H$ VrZ {d{^Þ lo{U`m| _| ~m±Q>  

{X`m & CgZo `h _hgyg {H$`m {H$ `o Zm_ Cgo CËnmX {d^oXrH$aU _| gh`Vm H$a|Jo & 

 Cn ẁ©º$ AZwÀN>oX Ho$ g§X^© _| {dnUZ Ho$ VrZ H$m`mªo H$mo g_PmBE & 6

 Vas vi was a student of Commerce in class XII. Her father was a farmer ,  

who grew different varieties of wheat and was well  versed about various 

aspects of wheat  cultivation. He was also selected by the government for 

a pilot- project on wheat cultivation. As a project she decided to study the 

feasibility of marketing good quality wheat at reasonable price. He r 

father suggested to her to use internet to gather customers ’ 瘀椀敷猠 愀湤 

潰椀渀椀潮猀⸠ 卨攀  景甀湤  瑨愀琠 瑨敲攠 眀慳 愀  桵最攠 搀敭愀湤  景爀  潲最愀渀椀挀ⴀ瀀愀挀步搀 

睨敡琮 卨攠歮敷⁴桡琠琀桥爀攠眀敲攀 湯⁰爀攀ⴀ搀整敲浩湥搀⁳瀀攀挀椀昀椀挀愀瑩潮猠椀渠挀愀獥 

潦 睨敡琀Ⰰ 戀散愀畳攠漀映睨椀挀栠椀琠睯畬搀 戀攠搀椀昀晩挀甀氀琠瑯 愀挀栀椀敶攠畮椀昀潲浩瑹 椀渀 
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the name of ‘M愀桡渀ⴀ潲最愀湩挀ⴀwheat’ and classified it into three different 瘀愀爀椀攀瑩敳 湡浥氀礀 — 倀潰畬愀爀Ⱐ䌀氀愀獳椀挀 愀湤 匀異爀敭攀Ⰰ 戀愀獥搀 潮 瑨攀 焀畡氀椀瑹⸀ 
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MARKING SCHEME-2014-15 
BUSINESS STUDIES 

DELHI-66/1/3 
EXPECTED ANSWERS / VALUE POINTS 

 

 
 

DISTRI- 
BUTION 

OF MARKS 

1 Q. Pankaj purchased a car from 'Abhishek Motors' for Rs. 50 lakhs. The 
company offered many attractive gifts to Pankaj like - free insurance for 
first two years, free pick-up and drop facilities for free servicing upto 
20,000 km, etc. But after a few days Pankaj noticed that the pick-up of the 
car was not good and there was some problems in the engine. The company 
serviced the car free of cost but even then Pankaj was not satisfied with its 
performance. 'Abhishek Motors' is not giving him the due response. So he 
filed a complaint in the State Commission but was not satisfied with its 
decision also. He was very much disturbed and after two months decided to 
appeal against it. 
Can Pankaj appeal against the decision of the State Commission? Give 
reason in support of your answer. 
 
Ans. No, Pankaj cannot appeal now as the appeal has to be filed within 30 days 
of  passing of the order by the State Commission. 
 

 
 
 
 
 
 
 
 
 
 

½ + ½ 
= 

1 mark 

2 Q. How do 'Floatation costs' affect the choice of capital structure of a 
company? State. 
 
Ans .’Floatation costs’ affect the choice of capital structure of a company as 
higher the floatation costs, less attractive the source of finance. 
 

 
 

1 mark 

3 Q. 'Reliable Transport Services Ltd.' specialises in transporting fruits and 
vegetables. It has a good reputation in the market as it delivers the fruits 
and vegetables at the right time and at the right place. 
State with reason whether the working capital requirements of 'Reliable 
Transport Services' will be high or low. 
 
Ans. Low, as it is a service industry, which usually do not have to maintain   
inventory. 

½  mark for 
identification 

+ 
½ mark for 

reason 
= 

½ + ½ 
= 

1 mark 
4 Q. 'Glow and Shine Ltd.' is a famous beauty brand offering organic beauty 

products for men and women. The company uses plant-based material for 
its products and is the No. 1 beauty brand in the country. It not only 
satisfies its customers but also believes in overall protection of the planet. 
Identify the marketing management philosophy being followed 'Glow and 
Shine Ltd.' 
 
Ans. Societal marketing concept. 
 

 
 
 
 
 

1 mark 
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5 Q. Why is it said that principles of management are mainly behavioural in 
nature? 
 
Ans. Principles of management are mainly behavioural in nature as they aim at 
influencing behaviour of human beings. 
 

 
1 mark 

6 Q. 'Bawa Cycles' was in the business of manufacturing racing-cycles and 
had a monopoly in the market. The business was doing very well and the 
company was consistently meeting its objective of 10% increase in sales 
every year. Encouraged by the good track record, the Managing Director of 
the company kept an ambitious target of 15% increase in sales for the next 
year. The same year two competitors also entered the market and 
because of this the company was not able to meet its target. 
Identify the limitation of one of the functions of management because of 
which the company was not able to achieve its target. 
 
Ans. Planning may not work in a dynamic environment. 
 

 
 
 
 
 
 
 

1 mark 

7 Q. What is meant by ‘Globalisation’? 
 
Ans. Globalisation means integrating the various economies of the world leading 
towards the emergence of a cohesive global economy. 
 

1 mark 

8 Q. Give the meaning of ‘Strategy’ as a type of plan. 
 
Ans.  A strategy is a comprehensive plan made in response to changes in the 
business environment to achieve organisational objectives. 
 

 
1 mark 

9 Q. Give the meaning of ‘Divisional Structure of an organisation’ with the 
help of a diagram. 
 
Ans. Divisional structure is an organisation structure comprising of separate 
business units or divisions. 
 
 

 
Divisional structure 

 

 
 (Or any other correct diagram) 

 

 
 

1 mark for the 
meaning 

+ 
 
 
 
 
 
 
 

2 marks for the 
diagram 

= 
1+2 
= 

3marks 
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10 Q. KPM Ltd.' is manufacturing breads and biscuits for many years. It has 
approximately 150 employees and most of them are not happy with the 
working environment. Because of this the labour turnover rate is very high. 
Therefore the company appoints a new Human Resource Manager, Naveen, 
to analyse the situation. Naveen finds that there is no free flow of 
communication, and there is no suggestion box for the employees to voice 
their suggestions or grievances. The company rarely organises a social or 
cultural gathering, the employees just come, finish their work and leave the 
organisation. 
(a) Identify the communication barrier discussed above. 
(b) State the category of this communication barrier. 
(c) Explain any other communication barrier of the same category. 
 
Ans. (a) Organisational facilities. 
 
 
(b) Organisational barriers which are related organisational structure, authority 
relationships, rules and regulations. 
 
 
(c) Other barriers in the same category are: (Any one) 
(i) Organisational policy. 
(ii) Rules and regulations. 
(iii) Status. 
(iv) Complexity in organisational structure. 
 

1 mark for 
identifying the 

barrier 
+ 

½  mark for 
naming 

the category of 
barrier 

+ 
½ mark for 
stating the 
category of 
the barrier 

+ 
(½ mark for 

naming 
another 
barrier 

+ 
½ mark 
for its 

explanation) 
= 

1+1+1 
= 

3marks 
11 Q. Distinguish between Capital Market and Money Market on the basis of 

the following : 
(a)Participants 
(b) Instruments 
 
Ans. DISTINCTION BETWEEN CAPITAL MARKET AND MONEY 
MARKET 

Basis CAPITAL 
MARKET 

MONEY MARKET 

(a)Participants 
 

The participants in the 
capital market are — 
financial institutions, 
banks, public and 
private companies, 
foreign investors and 
ordinary retail 
investors from the 
public. 
 

Participants in the money 
market are financial 
institutions, RBI, banks, 
public and private 
companies and individual 
investors. 

(b) Instruments 
 

The main instruments 
traded in the capital 
market are — Equity 
Shares, Debentures, 
Preference Shares, 

The main instruments 
traded in the money 
market are Treasury Bills, 
Commercial Bills, 
Commercial Paper and 

 
 
 
 
 
 
 
 
 
 

 
1 ½ marks 

 
 
 
 

 
+ 
 
 
 

1 ½ marks 
 

= 
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Bonds etc. Certificates of Deposit. 

 
 

1 ½ + 1 ½  
= 

3 marks 

12 Q. Aarav was working as a supervisor with 'Neer Purifier Ltd.' which was 
producing water purifiers. The target of the company was to produce 200 
water purifiers every day. His job was to make sure that work goes on 
smoothly and there was no interruption in production. To achieve this, he 
always gives orders and insists that they are obeyed. He believes that 
reward or punishment both can be given depending upon the performance. 
Identify and describe the leadership style being adopted by Aarav. 
 
Ans. Autocratic style of leadership. 
 

• An autocratic leader gives orders and   insists that they are obeyed. He 
does not give the subordinates any freedom to influence his decision. 

• He determines the policies for the group without consulting them. He 
does not give information about future plans but simply tells the group 
what immediate steps they must take.  

 

 
1 mark for 

identification 
+ 

1 mark for 
each point 

of  
description 

= 
1 x 2 

= 
2 marks 

= 
1+2 
= 

3 marks 

13 Q. How do the 'market related factors’ affect the choice of channels of 
distribution? Explain. 
 
Ans. Market related factors which affect the choice of channels of distribution: 
(i) Size of the market 
(ii) Geographical concentration of potential buyers. 
(iii) Quantity purchased. 
 
(If an examinee has not given the headings, no marks should be deducted) 
 

 
½ mark for the 

heading 
+ 

½ mark for 
each 

explanation 
=  

1 x 3 
= 

3marks 
14 Q. State any four points that highlight the importance of business 

environment. 
 
Ans. Importance of business environment: (Any four) 
 
(i) It helps to identify opportunities and getting the first mover advantage instead 
of losing them to the competitors. 
(ii) It helps to identify threats on time which serves as an early warning signal. 
(iii) It helps in tapping useful resources so that it can convert them into output 
that the environment desires. 
(iv) It helps in coping with rapid changes in an increasingly dynamic 
environment. 
(v) It helps in assisting in planning and policy formulation. 
(vi) It helps in improving performance by continuously monitoring the 
environment and adopting suitable practices. 
 
(If an examinee has given only the headings, ½ mark for each heading 
should be awarded) 

 
 
 
 
 
 
 
 

1 mark  
for each  

statement 
 

= 1 x 4 
= 

4 marks 
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15 Q. Explain the following rights of a consumer as provided under Consumer 
Protection Act, 1986: 
(a) Right to be informed 
(b) Right to be heard. 
 
Ans. (a) Right to be informed: 
§ The consumer has a right to have complete information about the product he 

intends to buy such as, ingredients, date of manufacture, price, quantity etc.   
§ It is because of this reason that the legal framework in India requires the 

manufacturers to provide such information on the package and label of the 
product. 

 
 

(b) Right to be heard: 
§ The consumer has right to file a complaint and to be heard in case of 

dissatisfaction with a product or a service.  
§ It is because of this reason many firms have set up their own consumer service 

and grievance cells. 
 
 

 
 
 
 
 
 
 

2 marks 
 

+ 
 

2 marks 
 

= 
 

4 marks 

16 Q. 'Zaira Ltd.' is a large and creditworthy company manufacturing air-
conditioned buses for the Indian market. It now wants to export these buses 
to other countries and decides to invest in new hi-tech machines. Since the 
investment is large, it requires long-term finance. It decides to raise funds 
by issuing equity shares. The issue of equity shares involves huge floatation 
cost. To meet the expenses of floatation cost, the company decides to tap the 
money market. 
(a) Name and explain the money market instrument the company can use 
for the above purpose. 
(b) What is the duration for which the company can get funds through this 
instrument ? 
(c) State any other purpose for which this instrument can be used. 
 
Ans. (a) Commercial Paper. 
It is an instrument issued by large and creditworthy companies to raise short 
term funds at lower rates of interest than the market rates. It is an unsecured, 
negotiable promissory note with a fixed  maturity period.  
 
(b) 15 days to one year. 
 
(c) It can also be used for seasonal and working capital needs. 
 

 
 
 

1 mark for 
naming the 
instrument 

+ 
1 mark for its 
explanation 

+ 
1 mark for 
duration 

+ 
1 mark for any 
other purpose 

= 
1+1+1+1 

=  
4 marks 

 

17 Q. 'Adharshila Vidyalaya' believes in holistic development of students and 
encourages team building through a mix of curricular, co-curricular and 
sports activities. On its Founders' Day a stage performance had to be put 
up. A committee of ten prefects was constituted to plan different aspects of 
the function. They all decided to use recycled paper for decoration. As there 
was a spirit of unity and harmony and all members supported each 
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other with mutual trust and belongingness, the programme was 
systematically planned and executed. Arvind, one of the prefects, realized 
that unknowingly the group had applied one of the principles of 
management while planning and executing the programme. He was so 
inspired by the success of the function, that he asked his father to apply the 
same principle in his business. His father replied that he was already using 
this principle. 
(a) Identify the principle of management applied for the success of the 
programme. 
(b) State any two features of management highlighted in the above 
paragraph. 
(c) Identify any two values which 'Adharshila Vidyalaya' communicated to 
the society. 
 
Ans. (a) Principle of management - Espirit de corps. 
 
(b) Features of management: (Any two) 
 
(i) MANAGEMENT IS PERVASIVE. 
 
‘…he asked his father to apply the same principle in his business’. 
 
Management is pervasive as it can be applied to all types/ levels of 
organisations. 
 
 (ii) MANAGEMENT IS A GROUP ACTIVITY 
 
‘There was a spirit of unity and harmony and all members supported each 
other. 
 
Management is a group activity because it requires team work and/or 
coordination of individual efforts. 
 
(iii) MANAGEMENT IS GOAL ORIENTED. 
 
‘….the programme was systematically planned and executed’. 
 
Management is goal oriented as it unites the efforts of different individuals 
towards achieving organisational goals. 
 
(iv) MANAGEMENT IS MULTI-DIMENSIONAL  
 
‘…programme was systematically planned and executed’. 
OR 
‘There was a spirit of unity and harmony and all members supported each 
other’. 
 
Management is multi-dimensional as it involves management of work, people 
and operations. 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 mark for 
identifying  

the  
principle 

 
 
 
 
 
 

+ 
 
 
 
 
 
 
 

½ mark for 
stating each 

feature 
=  

( ½ x 2) 
=  

1 mark 
 
 
 
 
 
 

+ 
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(v) MANAGEMENT IS INTANGIBLE  
 
‘With mutual trust and belongingness….’. 
OR 
‘There was a spirit of unity and harmony and all members supported each 
other’.  
 
Management is intangible as it cannot be seen but its presence can be felt in the 
way the organisation functions. 
 
(IF AN EXAMINEE HAS IDENTIFIED THE FEATURE OF 
MANAGEMENT CORRECTLY, FULL CREDIT BE GIVEN FOR 
EITHER QUOTING THE LINE OR GIVING THE STATEMENT) 
 
(c) Values being communicated to the society: (Any two) 
 
(i) Concern for the environment. 
(ii) Holistic development of children. 
(iii) Teamwork 
 

(or any other correct value) 
 

 
 
 
 
 

 
 

1 mark for 
each value 

= 
(1 x 2) 

= 
2 marks 

= 
1+1+2 

= 
4 marks 

18 Q. The workers of 'Swastik Ltd.' are unable to work on new computerized 
machines imported by the company to fulfil the increased demand. 
Therefore the workers are seeking extra guidance from the supervisor and 
the supervisor is overburdened with the frequent calls of workers. 
 
Suggest how the supervisor, by increasing the skills and knowledge of 
workers, can make them handle their work independently. 
 
Also state any three benefits that the workers will derive by the decision of 
the supervisor. 
 
Ans. Training of employees/ Vestibule training/ On the job training. 
 
Benefits the workers will derive by the decision of the supervisor: (Any three) 
 
(a) It helps in promotion and career growth due to improved skills and 
knowledge. 
 
(b) It helps him to earn more due to improved performance. 
 
(c) It reduces accidents as the employees are more efficient to handle machines. 
 
(d) It increases the morale of the employees as the employees are more satisfied. 
 
(If an examinee has given only the heading, ½ mark for each heading should 
be awarded) 
 

 
 
 
 
 
 
 
 
 

 
1 mark 

 
+ 
 

1 mark for 
each statement 

= 
 

1 x 3 
= 

3 marks 
=  

1+3 
= 

4 marks 
 

19 Q. Harsh started a company 'Tiny-Toys Ltd.' to manufacture economical  
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toys for the Indian rural market, with 20 employees. The company did very 
well in its initial years. As the products were good and marketed well, the 
demand of its products went up. To increase the production the company 
decided to recruit additional employees. Harsh who was earlier taking all 
decisions for the company had to selectively disperse the authority. He 
believed that subordinates are competent, capable and resourceful and can 
assume responsibility for effective implementation of their decisions. This 
paid off and the company was not only able to increase its production but 
also expanded its product range with different features. 
(a) Identify the concept used by Harsh through which he was able to steer 
his company to greater heights. 
(b) Also explain any three points of the importance of this concept. 
 
Ans. (a) Decentralisation. 
 
(b) Importance of decentralisation: (Any three) 
(i) Develops initiative among subordinates. 
(ii) Develops managerial talent for the future. 
(iii) Quick decision making. 
(iv) Relief to top management. 
(v) Facilitates growth. 
(vi) Better control. 
 
(if an examinee has not given the headings as above but has given the 
correct explanation, full credit should be given) 
 
(IF THE CONCEPT IS WRONGLY IDENTIFIED BUT THE POINTS OF 
IMPORTANCE ARE CORRECT, DUE CREDIT BE GIVEN) 
 

 
 
 
 
 
 

1 mark for 
identifying the 

concept 
 

+ 
 

(½ mark for 
the heading 

+ 
½ mark  
for its 

explanation) 
= 

1 x 3 
=  

3 marks 
=  

1+3 
= 

4 marks 

20 Q. State the features of ‘Formal Organisation’. 
 
Ans. Features of ‘Formal Organisation’:  
(i) It clarifies who has to report to whom. 
(ii) It is a means to achieve the objectives as it lays down rules and procedures 
for their achievement. 
(iii) It coordinates the efforts of various departments. 
(iv) It is deliberately designed by the top management to facilitate smooth 
functioning. 
(v) It places more emphasis on work rather than inter-personal relationships. 
 
(If an examinee has given only the headings, ½ mark for each heading 
should be awarded) 
 

 
 

1 mark  
for each  

statement 
=  

1 x 5 
= 

5marks 

21 Q. Kavya had been working with 'Reliable Ltd.' for the last ten years. She 
was famous for her dedication towards the work. When the manager senior 
to her retired, all her colleagues thought that now Kavya would be 
promoted. But to everyone's surprise the vacant post was filled by an 
outsider 'Miss Garima'. Because of this, Kavya felt demoralised and her 
performance started declining. She would absent herself often and could not 
meet her targets. 
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Miss Garima was a good leader who would not only instruct her 
subordinates but also guide and inspire them. She noticed Kavya's 
behaviour and felt that her performance could be improved. She started 
involving Kavya in decision-making issues related to the organization and 
made her a member of a high-level joint management committee. Kavya 
was now punctual to office and her performance started  
(a) Identify the function of management being performed by Garima. 
(b) Name the element of the above function of management which helped 
Garima to improve Kavya's behaviour. 
(c) State any three features of the element identified in (b) above. 
 
(a) Directing. 
 
(b) Motivation. 
 
(c) Features of motivation: (Any three) 
(a) It is an internal feeling. 
(b) It produces goal directed behaviour. 
(c) It can be positive or negative. 
(d) It is a complex process. 
 
(If an examinee has identified the element in part (b) as non financial 
incentive, full credit is to be given) 
 

 
 

1 mark for 
identifying the 

function 
+ 

1 mark for 
identifying the 

element 
= 
+ 

1 mark for 
each feature 

= 
(1 x 3) 

= 
3 marks 

= 
1+1+3 

= 
5 marks 

22 Q. A company was manufacturing solar panels for charging of mobiles 
which were in great demand. It was found that the target of producing 500 
solar panels a day was not being met by the employees. On analysis it was 
found that the workers were not at fault. Due to non-availability of raw 
materials and shortage of workers, the company was not able to achieve the 
set targets and alternative arrangements were needed. To meet the 
increased demand the company assessed that approximately 66 additional 
workers were required out of which 6 would work as heads of different 
departments and 10 would work as subordinates under each head. The 
required qualifications and job specifications were also enlisted. It was also 
decided that necessary relaxation should be given to encourage women, 
persons from backward and rural areas and persons with special abilities to 
assume responsible positions in the organisation. All efforts were made to 
match the ability of the applicants with the nature of work. 
(a) Identify the functions of management discussed above. 
(b) State the two steps in the process of each function discussed in the above 
para. 
(c) List any two values which the company wants to communicate to the 
society. 
 
Ans. (a) Staffing and controlling. 
 
(b) Steps in Staffing: 
 
(i) Estimating manpower requirements which involves knowing how many 
persons are needed and of what type. 
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‘To meet the increased demand, the company assessed that …. subordinates 
under each head’. 
 
 
(ii) Recruitment which involves searching for prospective employees and 
stimulating them to apply for jobs in the organisation. 
 
(IF AN EXAMINEE HAS ONLY IDENTIFIED ‘ESTIMATING 
MANPOWER REQUIREMENTS’ AS A STEP IN THE STAFFING 
PROCESS, FULL CREDIT IS TO BE GIVEN) 
 
Steps in controlling: (Any two) 
 
(i) Comparison of actual performance with the standards which would reveal the 
deviation between actual and desired results. 
 
‘It was found that the target of producing 300 bulbs a day was not met by the 
employees’. 
 
 
(ii) Analysing deviations which would help to find out the causes of deviation. 
 
On analysis, it was found that the workers were not at fault….alternative 
arrangements were needed. 
 
 
(iii) Taking corrective action, if required. 
 
To meet the increased demand, the company assessed that approximately ….as 
subordinates under each head. 
 
(If an examinee has given all the steps of the process, ½ mark may be 
deducted) 
 
(c) Values which the company wants to communicate to the society: (Any two) 
(i) Using environment friendly methods of production. 
(ii) Women empowerment. 
(iii) Upliftment of underprivileged sections of the society. 
 

(or any other correct value) 
 

 
(½ mark for 
identifying 

each function 
= 

 ½ x 2 
= 

1 mark) 
 

+ 
 

(½ mark for 
identifying 
each step 

+ 
½ mark for 

either quoting 
the line  

OR  
stating the step 

= 
½ x 4 

= 
2 marks) 

+ 
(1 mark for 
each value 

= 
1 x 2 

= 
2 marks) 

= 
1+2+2 

= 
5 marks 

23 Q. Explain the following principles of management: 
(a) Co-operation, not Individualism 
(b) Subordination of Individual Interest to General Interest. 
 
(a) Cooperation, not individualism:  
 
• There should be complete co-operation between the management and the 

workers instead of individualism. 

 
 
 
 
 
 

1 x 3 
=  
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• This principle is an extension of principle of ‘Harmony, Not Discord’. 
Competition should be replaced by cooperation.  

• For all important decisions taken by the management, workers should be 
taken into confidence. The management should be open to any constructive 
suggestions made by the employees and suitably reward them. 

 
(b) Subordination of Individual Interest to General Interest: 
 
• The interests of an organisation should take priority over the interests of any 

individual employee. 
• The larger interests of the workers and stakeholders are more important than 

the interest of any one person. 
• A manager can ensure this by his/ her exemplary behaviour. 
 

 
3 marks 

 
 

+ 
 
 

 
1 x 3 

=  
3 marks 

= 
3+3 
= 

6 marks 
24 Q.' Silkiya Ltd.' is a company manufacturing silk cloth. It has been 

consistently earning good profits for many years. This year too, it has been 
able to generate enough profits. There is availability of enough cash in the 
company and good prospects for growth in future. It is a well-managed 
organisation and believes in quality, equal employment opportunities and 
good remuneration practices. It has many shareholders who prefer to 
receive a regular income from their investments.   
It has taken a loan of Rs.60 lakhs from SBI Bank and is bound by certain 
restrictions on the payment of dividend according to the terms of the loan 
agreement. 
The above discussion about the company leads to various factors which 
decide how much profit should be retained and how much has to be 
distributed by the company. 
Quoting the lines from the above discussion, identify and explain any four 
such factors. 
 
Ans. Factors affecting dividend decision: (Any four) 
 
(i) Stability of earnings 
 
‘It has been consistently earning good profits for many years’. 
 
Stability of earnings affects dividend decision as a company having stable 
earnings is in a position to declare higher dividends. 
 
 (ii) Cash Flow position 
 
‘There is availability of enough cash in the company’. 
 
A good cash flow position is necessary for declaration of dividend. 
 
(iii) Growth Prospects 
 
‘Good prospects for growth in the future’. 
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If a company has good growth opportunities, it pays out less dividend. 
 
(iv) Shareholders’ preference 
 
‘It has many shareholders who prefer to receive regular income from their 
investments’. 
 
Shareholder’s preference is kept in mind by the management before declaring 
dividends. 
 
(v) Contractual constraints 
 
‘It has taken a loan of Rs.60 Lakhs from SBI Bank and ….agreement’ 
 
While taking dividend decision, companies keep in mind the restrictions 
imposed by the lenders in the loan agreement. 
 

25 Q. Vasvi was a student of Commerce in class XII. Her father was a farmer, 
who grew different varieties of wheat and was well versed about various 
aspects of wheat cultivation. He was also selected by the government for a 
pilot-project on wheat cultivation. As a project she decided to study the 
feasibility of marketing good quality wheat at reasonable price. Her father 
suggested to her to use internet to gather customers' views and opinions. 
She found that there was a huge demand for organic-packed wheat. She 
knew that there were no pre-determined specifications in case of wheat, 
because of which it would be difficult to achieve uniformity in the output. 
To differentiate the product from its competitors, she gave it 
the name of 'Mahan-organic-wheat' and classified it into three different 
varieties namely - Popular, Classic and Supreme, based on the quality. She 
felt that these names would help her in product differentiation. 
Explain the three functions of marketing, with reference to the above 
paragraph. 
 
Ans. Functions of marketing, with reference to the above paragraph are: 
 
(i) Gathering and analysing market information. 
 
‘…use internet to gather customers’ views and opinions.’ 
 
(ii) Standardisation and Grading/ Grading. 
 
‘…no pre-determined specifications in case of wheat because of which it would 
be difficult to achieve uniformity in the output.’ 

OR 
‘…classified it into three different varieties namely – Popular, Classic and 
Supreme, based on the quality’. 
 
(iii) Branding. 
 
‘To differentiate the product from its competitors, she gave it the name of 
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‘Mahan Organic Wheat’.’ 
OR 

She felt that these names would help her in product differentiation. 
 
(IF AN EXAMINEE HAS IDENTIFED THE FUNCTIONS CORRECTLY 
AND HAS GIVEN THE EXPLANATION WITHOUT QUOTING THE 
LINES FROM THE ABOVE PARA, FULL CREDIT IS TO BE GIVEN) 
 

for its 
explanation 

= 
2 x 3 

= 
6 marks 
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